Al £ Ol & AF e & Al A
0243 20ilat LE JIEIS 82, SIIESEH sE25 0
SN SEEH
M SENZENA A
ol SEFEFNHADIBES EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEH1L 24,142,482 16,976,013 7,166,469
= 1,378,000
[ 11,910,000
= 809,430
o 8,415,052
= 1,630,000
sEIF0A HA 22,259,769 16,615,131 6,644,638
= 1,332,000
s 11,845,000
== 475,200
o 6,977,569
= 1,630,000
SEIF02(EHES 19,113,663 14,045,702 5,067,961
= 1,332,000
s 11,845,000
s 475,200
s 3,831,463
= 1,630,000
SESHIHIAE 3,879,700 1,800,000 2,079,700
= 792,000
& 237,600
= 1,220,100
= 1,630,000
401 AIEHIZL SR 0HYI 3,879,700 1,800,000 2,079,700
= 792,000
= 237,600
Ea 1,220,100
= 1,630,000
01 Al&H| 3,879,700 1,771,000 2,108,700
0S4z sES2dHIAE
3,879,700,000& 3,879,700
= 792,000
[ 237,600
T 1,220,100
= 1,630,000
sENSSZAAA (KHAI) 3,456 20,500 17,044
202 04| 3,456 4,500 1,044
01 =LHO LI 3,456 4,500 1,044
OMEHZAANY LSEA 01|
3,456,000 3,456
SEMBAZH AL (EX) 1,729,339 2,100,000 A370,661
= 1,470,000
Ea 259,339

—_
|




SN SEEH
M SENZENA A
ol SEFEFNHADIBES EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
207 ARl 760,000 0 760,000
= 532,000
= 228,000
01 H2E4H| 760,000 0 760,000
OsENEHEA AL 760,000,000 760,000
= 532,000
o 228,000
307 21201 & 100,000 0 100,000
[ 70,000
[Ea 30,000
02 2B HAHE L 100,000 0 100,000
OsEAEHE A A 100,000,000 100,000
s 70,000
= 30,000
401 A& HIX R0 869,339 2,030,000 21,160,661
[ 868,000
o 1,339
01 A28l 864,875 2,026,000 1,161,125
SELSHS ALY 864,875,000 864,875
[ 864,875
03 AIZ 2 THYI 4,464 4,000 464
OsENEHEA LA 4,464,000 4,464
[ 3,125
s 1,339
LS AMOEINEAIS 210,412 217,300 6,888
202 04| 6,912 0 6,912
01 =LHO LI 6.912 0 6.912
OsZE4d3 428 0l
6,912,000& 6,912
203 AHR=H] 2,500 0 2,500
03 A= PR F&IH| 2,500 0 2,500
Os=243 ARXT S|
2,500,000 2,500
207 ARl 10,000 22,000 212,000
01 H7EAHI 10,000 22,000 212,000
OS82 s N2HEH 22tE Jotat
g 29 10,000,000 10,000
307 lztol & 191,000 186,060 4,940
05 2IHRIE S 191,000 186,060 4,940
0S8z sEZATAMEH 22|
191,000,000 191,000
=S5 SESSNELES MY 4,861,000 6,605,714 A1,744,714
[ 4,861,000




SN SEEH
M SENZENA A
ol SEFEFNHADIBES EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
403 X SHHMSAH=01H 4,861,000 6,605,714 A1,744,714
= 4,861,000
02 SO 2SOt stA=2E 2 €A H] 4,861,000 6,605,714 A1,744,714
032 SE34T L3 Al
4,861,000,000& 4,861,000
= 4,861,000
USH SESHINSLHSANL(E) 1,528,571 1,100,000 428,571
[ 1,070,000
[Ea 458,571
207 ARl 1,240,000 0 1,240,000
= 868,000
s 372,000
01 H1ESH] 1,240,000 0 1,240,000
OUSH sESHNELHSAYE A3t
1,240,000,000& 1,240,000
= 868,000
Ea 372,000
301 Eet2 NS 24,000 12,000 12,000
[ 16,800
o 7,200
14 JIEt2 8= 24,000 0 24,000
OARE g3H| 24,000,000 24,000
= 16,800
s 7,200
401 Al HIZ S 0HbI 264,571 1,068,000 AT93,429
= 185,200
Ea 79,371
01 A28l 264,571 1,031,000 AT66,429
OUsH SESHA 243 MY
264,571,000 264,571
[ 185,200
o 79,371
HAHSESHXSHAIG () 4,647,143 500,000 4,147,143
s 3,253,000
= 1,394,143
207 ARl 2,000,000 0 2,000,000
= 1,400,000
Ea 600,000
NEEEET 2,000,000 0 2,000,000
OUAY SEZATEABIAL o223l
2,000,000,000& 2,000,000
[ 1,400,000
o 600,000
301 LELEE S 24,000 12,000 12,000

w
|




SN SEEH
M SENZENA A
ol SEFEFNHADIBES EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 16,800
s 7,200
14 IIEt2 8= 24,000 0 24,000
OARY &S| 24,000,000 24,000
= 16,800
o 7,200
401 Al HIZ S OHbI 2,623,143 458,000 2,165,143
[ 1,836,200
s 786,943
01 AlZ8| 2,623,143 416,000 2,207,143
OUAY SEZAX 283 A
2,623,143,000& 2,623,143
= 1,836,200
s 786,943
SEHI|ZUENE TGAE 698,571 1,000,000 A301,429
= 489,000
Ea 209,571
207 ARl 450,000 0 450,000
[ 315,000
s 135,000
01 S| 450,000 0 450,000
OMSD JIZMEETLAR A3l
450,000,000 450,000
= 315,000
= 135,000
301 EtE NS 24,000 6,000 18,000
= 16,800
Ea 7,200
14 IIEt2 8= 24,000 0 24,000
OARE 2=t 24,000,000 24,000
[ 16,800
s 7,200
401 AIEHIZ SR 0HYI 224,571 967,000 AT42,429
= 167,200
= 67,371
01 Al&H| 224,571 955,000 AT730,429
Ogdd JIzdENE D8
224,571,000& 224,571
= 157,200
Ea 67,371
ANzdgdsi(sda) 138,571 300,000 A161,429
[ 97,000
o 41,571

~
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SN SEEH
M SENZENA A
ol SEFEFNHADIBES EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 138,571 300,000 161,429
= 97,000
= 41,571
05 212t =S 138,571 300,000 161,429
OAlzsgdat 138,571,000& 138,571
= 97,000
o 41,571
S0HE FHAXA M HEAG(H8E tHE12l) 519,900 0 519,900
[ 459,000
= 60,900
403 TR SHMSAH=01H 519,900 0 519,900
= 459,000
=S 60,900
02 SISt 2 S A AIEEI 519,900 0 519,900
OS01Z FHOXIoF MBI HEAL
519,900,000& 519,900
= 459,000
< 60,900
SHE FAXY MBI WAL (A0 SH22) 195,000 0 195,000
[ 146,000
= 14,700
Ea 34,300
403 MR EHSAHE01H 195,000 0 195,000
[ 146,000
= 14,700
= 34,300
02 SISOt == P E A I 195,000 0 195,000
OS0i& 2T ME0IZ HEA
195,000,000 195,000
[ 146,000
= 14,700
= 34,300
SESVUEHIAMS(R2R7) 702,000 0 702,000
= 540,000
= 162,000
403 AXIEHMSAH=Z01d 702,000 0 702,000
= 540,000
= 162,000
02 SO 2SS0t et = & 2 € Ari| 702,000 0 702,000
O3S 22X7 SEZVFUIAY
702,000,000 702,000
= 540,000
s 162,000
SEHLD|EHES 3,146,106 1,569,429 1,576,677

o
|




SN SEHD
T SEFF0
Chel: SEMLI|BEE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o0t RAE=s 21,000 10,000 11,000
401 Al HIZL 201 21,000 10,000 11,000
01 Al&HI 21,000 10,000 11,000
OULZ=0tE s+ &4
15,000,000 15,000
O=2stlts FANE= 6,000,000 6,000
LESMOEINLY ML= 22 474,574 109,150 365,424
201 2= 64,650 33,150 31,500
01 At22t2lt] 38,950 23,550 15,400
Oget=ZHI 22,950
-2 M 50,0002 = 100K 500
-2eXClAME 2l
1,250,000& « 123 15,000
SABOIH BRI 22
200,000 = 128 2,400
-HEsE0E =FMA R
50,0003 50
424 28 7Y L 472 89
5,000,000& 5,000
O GHIOIEE sZIIEANE SHL AE=
16,000,000 16,000
2 S5=24g4l 25,700 9,600 16,100
O33e= 20,700
-2 900,000& = 123 10,800
-dotr=Ees 250,000& = 123 3,000
-SHes 100,000 = 128 1,200
-tARs 750,000 = 63 4,500
Cves 100,000& * 123 1,200
OAIZ2 &= X 5,000,000& 5,000
202 04| 5,184 6,000 A816
01 2K 5,184 6,000 A816
Os&ENE 22 o 5,184,000 5,184
401 Al HIZL S 0HYI 404,740 70,000 334,740
01 Al&HI 404,740 70,000 334,740
OFa~HY 2,200,000& * 12& 26,400
Oll=& 52,500,000& 52,500
ON=%¢ 20,000,000& * 23] 40,000
OAYXIOEH etd 2t 4|
40,000,000& 40,000
OZgXorEE AHAE L ot2s £X
5,000,000& * 200 10,000
OZgHIlisd 3384 uil
130,000,000 130,000
Od=0 23=EXHH IS S8
=N 5,280,000& * 304 15,840

_6_




SN SEHD
T SEFF0
Chel: SEMLI|BEE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O2= AACHS] ZENLAMEY =2001e
e=Jull 20,000,000& 20,000
OZ= AR SEMHLAIY BHOHE L=
SAt 20,000,000 20,000
OLEts A0 ENLAISY FXI22
50,000,000 50,000
22582 FA2 150,532 100,279 50,253
101 @124H| 42,937 27,679 15,258
M OIRINZZE2NSE S 42,937 27,679 15,258
Odd=2atalat HArdc| FY 42,937
=0 78,8803 * 2% » 243 38,336
-AEIEE JI2HRES
38,336,000 * 12% 4,601
201 er23 | 85,795 62,100 23,695
01 Al 21| 25,9% 27,100 A1.106
SEILIRS=Y[ 25,9%
FOloHE BRI ALE
300,000& = 123 3,600
52| SRS 242
150,000 = 128 1,800
N gsE AR sz 89
14,300,000 14,300
Fedsn AR S
495,000 495
4APH 28 7Y U AR2 B
5,000,002 5,000
~olE B DS
100,000 * 22 = 43 800
02 S3=4gl 59,800 35,000 24,800
Os&s2= € MA 49,800
-HIes 3,650,000& * 128 43,800
Aot R= 100,000 = 12& 1,200
-elIHsld = 100,000& = 12& 1,200
-SelFdl & ceTv 30,0002 * 1294 3,600
OAIZ2 &= X 10,000,000 10,000
401 AIEHIZ SR THYI 20,000 20,000
01 Al&HI 20,000 20,000
Odd=2salat =2 ¥& 22
20,000,000 20,000
405 AHaHE = 1,800 10,500 28,700
01 ML ESF SHI 1,800 10,500 A8,700
Oo=sde 2 600,000% = 3K 1,800
Or(AFE22]) DS SIS (B EALY) 50,000 350,000 A300,000
401 AlZHIZ 01| 50,000 350,000 300,000
01 A28l 50,000 350,000 A300,000




SN sEED
Hu: SEFZE0
R sEINLD|BES (CH9: &S1)
. _ S[E]
SA - B S(BH) - MISAY - BAS Ofl kot 05”55 HR=2
O (AF22) DISUSIIA
50,000,000 50,000
N]H"*(QﬁIZBl) IS0S DAL (HEALY) 50,000 350,000 300,000
401 AIZHIZL 2 0HY| 29,000 350,000 A321,000
01 Al&H| 29,000 350,000 A321,000
OAIAHE (2H2el) DISBHEDIAY
29,000,000 29,000
402 SIZ2tX=0| & 21,000 21,000
01 QIZIXE AL S X (KA THR) 21,000 21,000
OXHHE(2H22!) DISLHEIIAE
21,000,000 21,000
S0IcHOI(AR3E])OISCHE D AF (HEHALY) 50,000 350,000 300,000
401 A& HIZE20HY] 40,000 350,000 310,000
01 Al&H| 40,000 350,000 310,000
Os0teo| (AHR32]) OISCHED ALY
40,000,000 40,000
402 SIZtX=0| A 10,000 10,000
01 CIZIXIE A S X (KA THS) 10,000 10,000
OS0te0|(A<232]) OISCHED ALY
10,000,000 10,000
AFAO|(AHAI22]) OIS CHS DAY (HEHALSY) 400,000 50,000 350,000
402 SIZ2tX=0| A 400,000 0 400,000
01 QIZIXIE AL E X (KA THA) 400,000 0 400,000
O&HA0(AHA22]) DISCBHSDIANY (MEHALY)
400,000,000 400,000
Bt (S HI3E]) DISSHED|IAIE (MEAIY) 400,000 50,000 350,000
401 A|&H|ZE20HH| 290,000 50,000 240,000
01 Al&H| 290,000 50,000 240,000
Ogegr= (s MI3e]) DISCHEIIAS (MEALY)
290,000, 000& 290,000
402 SIZtXE0| A 110,000 110,000
01 QIZIXIE AL S X (KA THR) 110,000 110,000
OHBI= (S HI3E]) DIHSCHSDIAIY (MEALY)
110,000,000 110,000
SHH(ES12]) DISCHEI A (M EALY) 400,000 50,000 350,000
401 Al&EHILE0HH] 260,000 50,000 210,000
01 Al&H| 260,000 50,000 210,000
OstHH(ZE=12l) OISCHEIIAS (MEALY)
260,000,000 260,000
402 SIZ2tXE0| A 140,000 140,000
01 QIZIXIE AL S X (KA THR) 140,000 140,000
OeHH(Z==12]) OISCHEDIAIY (HEAFY)
140,000,000 140,000
TOHZ| OISCHSIIAIY (EEALY) 400,000 0 400,000




SN sEHD
33 sEFF0A A
R sEINLD|BES (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 400,000 400,000
01 Al&H| 400,000 400,000
O=ete| O=2t=) A
400,000,000 400,000
OHE (2432]) DFSRHSIIAIE (R EALY) 400,000 0 400,000
401 Al HIZ S OHbI 400,000 400,000
01 AlZ2H| 400,000 400,000
OQHE((2432]) OIS etSIIAIY
400,000,000& 400,000
S40H(Z452]) DFSASIIAIE (B EALY) 50,000 0 50,000
401 Al HIZL 201 50,000 50,000
01 Al&H| 50,000 50,000
P2 (S452]) DS 2HEIIAI
50,000,000& 50,000
CHRU(S322!) DS 2SIIAI (M EANY) 50,000 50,000
401 AIEHIX R0 50,000 50,000
01 A28l 50,000 50,000
OURU(S=22!) OE2EIIA
50,000,000 50,000
2 40I(&d=212]) OIS 2SIIAS (HEAL) 50,000 50,000
401 AlEHIZL SO 50,000 50,000
01 Al&HI 50,000 50,000
Ozl40I(4d212l) BI22SIIAY
50,000,000 50,000
LS01(2F22!) OIS 2SIIAI (HEAIY) 50,000 50,000
401 Al HIY S CHYI 50,000 50,000
01 A28l 50,000 50,000
Og301(2F22]) OFES2EIIAY
50,000,000 50,000
A=32| DFSBHSIIANY (R EHALY) 50,000 0 50,000
401 A2 HIRL R 0HbI 50,000 50,000
01 Al&H| 50,000 50,000
OAF=32l 0= 2HSJIA
50,000,000 50,000
AAHZ ESE SHUSIIAS (02 RSIIANY) 100,000 0 100,000
401 AIEHIZ SO 100,000 100,000
01 Al&H| 100,000 100,000
OUi4 ehdli7el 2=2E cl28d 2 F=IHE
FHAIZ 3l 100,000,000 100,000
SsEHY 1,856,754 1,336,392 520,362
= 46,000
[ 65,000
= 334,230
o 1,411,524

<o)
|




SN sEmD
Hu: sz
el AsAHENE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HAsHEXNE 625,300 478,3% 146,905
= 65,000
== 50,460
[Ea 509,840
HsAHEE R 11,100 4,300 6,800
201 2egh=3| 6,800 0 6,800
01 At2t2ltl 2,000 0 2,000
OS5l 24 === 2,000,000& * 14 2,000
02 s5=34l 4,800 0 4,800
OHsHEXNHUEH S8R
400,0008 * 123 4,800
202 04| 4,300 4,300
01 2K 4,300 4,300
OA=s7E g2 o 4,300,000 4,300
Hsel XEA 51,000 51,443 N443
402 BIZtAH=01 A 51,000 51,000
01 QI X2 AL E A (KHHITHE) 51,000 51,000
OFIsel 28 SIIH N2
1,200,000& * 30 36,000
OHsHEY S8 22l N
5,000,000& * 3H2A 15,000
AsAEY & NG WS 3,000 0 3,000
S 900
[Ea 2,100
307 212+01& 3,000 0 3,000
S 900
= 2,100
02 2IZHBHAIHE £ 3,000 0 3,000
OFsAZL U NA=Y S50
3,000,000& 3,000
= 900
Ea 2,100
Eraps (I =N S 13,000 10,000 3,000
307 21201 & 13,000 10,000 3,000
04 QIZHHAMAIH 2 £ 13,000 10,000 3,000
OO0l AHH2I0IS = A 13,000,000& 13,000
SMN8&=IH X2 A 6,000 6,000 0
402 QIF X201 & 6,000 6,000
01 QIZEXHE2 AL 2 (KM E) 6,000 6,000
OSHHELSI XIS (SSKH)
6,000,000& 6,000
CAE SESI XA 40,200 270,000 N229,800
=S 12,060

_10_




AN SEEH
Hu: sz
el AsAHENE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 28,140
301 EtE NS 14,400 42,000 A27,600
=S 4,320
s 10,080
14 0Bt 2as 14,400 42,000 27,600
OZZ0IA A0H2II(EIIR A2H| E)
14,400,000 14,400
< 4,320
s 10,080
307 elzto| & 25,800 87,400 261,600
= 7,740
Ea 18,060
02 2B YAIHE A 25,800 59,400 A33,600
OS=S0IA ZOLEIN(AAFY &)
25,800,000& 25,800
== 7,740
o 18,060
ANEE? ss22 X3 130,000 90,000 40,000
s 65,000
== 19,500
o 45,500
307 212+01™ 100,000 60,000 40,000
= 50,000
= 15,000
o 35,000
02 QIHEHAIEE X 100,000 60,000 40,000
OXg e sE=2d XA
100,000,000& 100,000
[ 50,000
= 15,000
[Ea 35,000
308 AtXIEHMSOIE 30,000 30,000 0
[ 15,000
= 4,500
Ea 10,500
18 SIS0t HAS A 30,000 30,000 0
OXdtel sZE2td XML (SSEE)
30,000,000& 30,000
[ 15,000
= 4,500
Ea 10,500
ASAHE SSSA 2SI A 60,000 0 60,000
== 18,000
o 42,000

_11_




SN sEmD
Hu: sz
el AsAHENE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
402 QI2F X201 & 60,000 0 60,000
= 18,000
= 42,000
02 QI X2 AL E R (0IHTHR) 60,000 0 60,000
OAsHE LS =4
60,000,000 60,000
=S 18,000
s 42,000
S SUENIIISAE 23 & 243 At 291,000 0 291,000
401 Al HIZL S 0HYI 151,000 0 151,000
01 Al&HI 150,000 0 150,000
OsdE HEISAE 22
150,000,000 * 14 150,000
03 A2 2 0HYI 1,000 0 1,000
SOE MEIISAIE B2AHY
1,000,000& 1,000
405 AtatE = 140,000 0 140,000
01 TR =S FSHI 140,000 0 140,000
O=2ttY J1H&H X
140,000,000& * 14 140,000
75 sASUE NFAS 20,000 0 20,000
301 LEtE NS 20,000 0 20,000
14 IIEt2 83 20,000 0 20,000
OFH A= sA SUE NFA
20,000,000& 20,000
SEUHXEH 1,231,454 857,997 373,457
= 46,000
= 283,770
o 901,684
sSEUY YRR 10,184 0 10,184
201 fer23y| 5,000 0 5,000
01 AtR2t2lHI 5,000 0 5,000
Odgt+=H| 2,000,000& 2,000
OHEZZXN, TASFAE 82 X2
3,000,000 3,000
202 04l 5,184 0 5,184
01 SLHoIH 5,184 0 5,184
O=s&EQg g2F24 0oyl 5,184,000 5,184
dsIlHE dHl 52 86,400 209,800 A123,400
= 25,920
o 60,480
402 2I2FX=01 & 86,400 209,800 123,400
s 25,920
s 60,480




SN SEH
3N SEFHYS
el SEUEXE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 QI X2 AL EE(OIETHE) 86,400 209,800 123,400
OgsJ et HHl 3= 86,400,000 86,400
= 25,920
o 60,480
sHYNAMEIAHEH 2S XS 150,000 134,000 16,000
s 45,000
s 105,000
307 21201 & 150,000 134,000 16,000
< 45,000
[Ea 105,000
02 2B HAHE L 150,000 134,000 16,000
OSHY (8 HHIAME 22 Xa
150,000,000 150,000
= 45,000
= 105,000
sIASE2E X2 114,000 114,000 0
=S 34,200
s 79,800
301 EtE NS 114,000 114,000 0
== 34,200
[Ea 79,800
14 JIEt2 = 114,000 114,000 0
OsJ1H s X2 114,000,000 114,000
& 34,200
= 79,800
sIIH SsHEX S 27,500 23,000 4,500
= 11,000
< 4,950
s 11,550
307 glztol & 27,500 23,000 4,500
= 11,000
== 4,950
[Ea 11,550
02 LB HANHEE 27,500 23,000 4,500
OsgIIH SHEX 2R
27,500,000 27,500
= 11,000
== 4,950
o 11,550
e[=0l HE2ZXN Z20H & 229,370 167,479 61,891
101 @124H| 28,370 27,679 691
M ORIMZZ2NSE S 28,370 27,679 691
O2=¢e HEZ2ZT X 22Y 28,370




SN SEH
Hu: sz
el SEUEXE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=0 78,8803 * 2& * 162 25,558
-ABIEE DI 2RYS
25,557,120& * 11% 2,812
201 et 3| 28,000 21,000 7,000
01 At 22|l 28,000 21,000 7,000
Oget=EH| 1,000,000& 1,000
O2I=0 HEZ22X DFAF A
50,0002 * 500& * 13l 25,000
O2=0 HEZZA 21 S|
200,000& = 102 2,000
202 04| 2,000 2,000
01 2K 2,000 2,000
OA=¢el HEZ2X 2= 04|
2,000,000& 2,000
301 EtE NS 171,000 118,800 52,200
11 dALEEIXIE S 16,000 12,800 3,200
o=l HEZ22X SAHI
8,0008 * 5002 = 12 4,000
O2A=0I HEZZ At 2HAHI
4,000& * 500 * 23] 4,000
OA=¢el HEZZ2T Stz
800,000 = 108 8,000
14 IIEt2 83 185,000 106,000 49,000
OtEEE X (=h)
50,000& * 500 * 60 150,000
O2=Q HEZZA HES X
10,0002 * 500 5,000
SEE TAsE X3 516,000 209,718 306,282
< 154,800
s 361,200
101 @124H| 30,000 0 30,000
= 9,000
= 21,000
MU IIRINZZENSES 30,000 0 30,000
Os=28 ZAs=® K& 30,000,000& 30,000
= 9,000
[Ea 21,000
301 EtE NS 486,000 0 486,000
< 145,800
[Ea 340,200
14 JIEt2 = 486,000 0 486,000
Os=8 ZAs=2 K& 486,000,000 486,000
== 145,800
= 340,200
SEUHSIHEE =2 X 70,000 0 70,000




SN sEmD
3N SEFHYS
el SEUEXE EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
= 35,000
=S 10,500
s 24,500
307 @I2to| & 70,000 0 70,000
= 35,000
= 10,500
Ea 24,500
02 2B YA HE A 70,000 0 70,000
OsEESEH =2 N&
70,000,000 70,000
= 35,000
= 10,500
Ea 24,500
dosIH 52 A 28,000 0 28,000
== 8,400
o 19,600
402 2I2E X201 & 28,000 0 28,000
[ 8,400
T 19,600
02 QI T2 AL EE (01X THE) 28,000 0 28,000
OoFesIIH 35 N2 28,000,000 28,000
= 8,400
= 19,600
dY2IFH(sE=25M) 25,959 24,490 1,469
Jl2gdtl(sEe8mn) 25,959 24,490 1,469
JlE2Ztl(sE89) 25,959 24,490 1,469
201 =3 20,799 14,590 6,209
01 At2t2lt] 19,457 14,590 4,867
Oget=ZH| 4,437,000 4,437
O=gH| 4,500,000& 4,500
O=ADN(=ERE) 2tz
380,000& = 1CH = 123 4,560
OdEEHl 425 24| 5,960
-ZZelg 4,400
£ 440,000 * 100 * 45 * 23] 3,520
= 440,0008 * 104 = 23] 880
-2 ErIEIE 200,000& = 3CH = 22 1,200
—+AX 120,000 * 1CH = 32 360
2 352484l 1,342 0 1,342
OtIs AR |XIZ=
1,300,0002 = 18CH * 5% 1,170
O™ I &l |RAE=H| 172
-Teig 4,000,000& * 2CH * 2% 160
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Hlw
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A240

MEE
Ofl &k2h

2,400

2,400

3,000
3,000

Ofl &F2H

12
2,160
2,160

2,160
3,000
3,000

3,000

- ESS

- SRA(E) - HIRAY

S LRE-L

—FAX

202 OH|

600,000& = 1CH = 2%

01 2L AL

2,160,000

KJ
KF
ok
ol

O

250,000& = 128
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